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4. A AT A= {z|aE108 FL2 20 ¥|5) B ={g, 1, {1, 2}, {1, 2, 3}},
C={0, 2, {0, 2}} @ W, n(A) +n(B) — n(C) & Totei=h



@ {1,5,6,8,9,10}

@ {2,3,8,9,14,16}

@ {7,8,9,15,18}

® {1,2,3,8,9,15}

® {2,4,5,9,11,14}



of 1A1ZH4

e
n

of 3t

2

!
ol
<|m

297 <

oftt.

o
"

=7Fe] 7Y

o
e

o}
@ 109 7HE 7P Ao 1

=
=]

® AEZ} o}

o]
=

@ 27H ©) 37H @ 47H © 57H

D 17
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11. A49% N o ol Ay = {afo’s NETH 2 25} 2 Gl Ay o ARE
AF A47t 15 AL W, N o AAgL A4 T Totolet.



, 10}, B=1{2,4, 8}l tiotd X — A =2, n(XnN
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14. 95 T &7 &2 A2?

O A={z|z+= 99 YL ™, n(d) =3
@ AcBol"Hn(ANB)=n(B)
® n({2, 3, 5}) —n ({10, 11, 12}) =0

@ A={1,2 4}, B={z|2= 5B A2 AA5r}d t,zc A°|HzeB
o|t},
® oc{o}
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n(B)=10,n(C)=15,n(BUC) =21,
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